2N

N &

AMNMS

At

At

Al

g ;;;;Iﬂ’é*aljl(’é*{g%)

Sl FOISEAY 9 EE)
SN FH-SA(EN) - MBAY - BES 2

ERg=, 268,120 248,120 20,000
AR a2IN(EES) 70,000 50,000 20,000
== A 70,000 50,000 20,000
A EHH O ALY 70,000 50,000 20,000
401 Al Bl 28I 70,000 50,000 20,000
01 A& HI 60,000 40,000 20,000
o MEOIAX A Z & 60,000,000& 60,000 40,000 20,000
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= A
N = 0 &8 AFH Y & A AN
SH: XA
A NSHMRI(HEH)
Tl FolS@ ALY (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
Z 2o 161,437 147,437 14,000
NEED PNEICSEELD 49,000 35,000 14,000
ZOI=AAY 49,000 35,000 14,000
A& T Ol ALY 49,000 35,000 14,000
401 AlEHI 2 =00y 49,000 35,000 14,000
01 Al&HI 42,000 28,000 14,000
o MBS ALY A 42,000,000 42,000 28,000 14,000
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= A
N = 0 &8 AFH Y & A AN
SN g
M NEFMARI(LH)
Sl FORAAY (B2l &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
=g 161,221 147,221 14,000
K2 H AR D (LH) 49,000 35,000 14,000
ZOI=AAY 49,000 35,000 14,000
A& T Ol ALY 49,000 35,000 14,000
401 AlEHI 2 =00y 49,000 35,000 14,000
01 Al&HI 42,000 28,000 14,000
o MBS ALY A 42,000,000 42,000 28,000 14,000
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At

At

Al

AN S3E
H: JNAFHL2I(S3H)

Sl FOISEAY 9 EE)
SN FH-SA(EN) - MBAY - BES 2

S5t 148,036 136,036 12,000
AN HaeI(SsH) 42,000 30,000 12,000
== A 42,000 30,000 12,000
A EHH O ALY 42,000 30,000 12,000
401 Al Bl 28I 42,000 30,000 12,000
01 A& HI 36,000 24,000 12,000
o MEOIAX A Z2 & 36,000,000& 36,000 24,000 12,000
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N = 0l & At & Ml A

SN AN
Ha: TSP ARI (& ME)

Sl FOISALY CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE

4N 172,985 156,985 16,000
XIS 2 H A2 Il (& AP ) 56,000 40,000 16,000
FOHH ALY 56,000 40,000 16,000
ME B ALY 56,000 40,000 16,000
401 N EHIL 2T 56,000 40,000 16,000
01 A&yl 48,000 32,000 16,000
o MBOIRF2IAY 2 48,000,002 48,000 32,000 16,000
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N = 0l & At & Ml A

M &AHH
M NAGMAIN(&HH)

Sl FOISAAY CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE

aAHS 225,208 207,208 18,000
ANABRA2 I (AAHH) 63,000 45,000 18,000
== A 63,000 45,000 18,000
A EHH O ALY 63,000 45,000 18,000
401 Al HIZ 2018 63,000 45,000 18,000
01 A& HI 54,000 36,000 18,000
o MEOIAX A 2 & 54,000,000& 54,000 36,000 18,000
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N = 0l & At & Ml A

SN BB
H: JNAFHL2IN(EEH)

Sl FOISAAY CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE

2EH 181,605 165,605 16,000
ANAERALI(ZHEH) 56,000 40,000 16,000
== A 56,000 40,000 16,000
A EHH O ALY 56,000 40,000 16,000
401 Al HIZ 2018 56,000 40,000 16,000
01 A& HI 48,000 32,000 16,000
o MEOIAX A Z2 & 48,000,000& 48,000 32,000 16,000
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N = 0l & At & Ml A

SH: Hate

H: JNAIHA2IN(MEH)

Sl FOISAAY CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HIDE2

& 147,345 135,345 12,000
A Ha2 I (Had) 42,000 30,000 12,000
o =3 A 42,000 30,000 12,000
HEEALY 42,000 30,000 12,000
401 AIEBIZ 2 THEI 42,000 30,000 12,000

01 A€ HI 36,000 24,000 12,000

o ME0IAXeAY g & 36,000,000& 36,000 24,000 12,000
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N = 0l & At & Ml A

2AH 24H
H: HH2IAH(ELH)
chel Jl2adl (Sl & &)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
=sgd 153,815 139,815 14,000
HY2IZH (2LH) 111,815 109,815 2,000
Jl23l 87,066 85,066 2,000
JlE2&l 87,066 85,066 2,000
201 L2l 43,066 41,066 2,000
02 22224l 19,476 17,476 2,000
< AMEFUI XY > 0 0 0
o MRA &8 =2 2,000,000& * 14 2,000 0 2,000
A&z I(sLH) 42,000 30,000 12,000
o= A 42,000 30,000 12,000
MEEALS 42,000 30,000 12,000
401 Al HI & 28I 42,000 30,000 12,000
01 A& Hl 36,000 24,000 12,000
o MEORAXYl AL Z & 36,000,000& 36,000 24,000 12,000
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A & 0l & AF 2 E A A
2AM: 501H
Za: HYSYAH (S0I8)

& 123l (Sl & &)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-E" Hl DS 2
=01 166,235 150,435 156,800
HY2IZH (S01H) 117,235 115,435 1,800

Jl2&dl 92,150 90, 350 1,800
Jl= 3 92,150 90, 350 1,800

201 Let24E] 45,710 43,910 1,800
02 2324l 20,985 19,185 1,800

o S01¥ =U=EXF2A(201=22€28) &I
= 150,000& * 123 1,800 0 1,800
ANAEH&2I(Ss01H) 49,000 35,000 14,000
F =AY 49,000 35,000 14,000
MEHOIALY 49,000 35,000 14,000
401 Al HIZ 201 I 49,000 35,000 14,000
01 A& HI 42,000 28,000 14,000
o ME0IAXel ALY Z & 42,000,000 42,000 28,000 14,000
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N & 0l & At

Al

2AM: SotH
HM: JNAFHLII(=S0tH)

Sl FOISEAY 9 EE)
SN FH-SA(EN) - MBAY - BES 2

SotH 150,592 138,592 12,000
AN Hae I (SotH) 42,000 30,000 12,000
== A 42,000 30,000 12,000
A EHH O ALY 42,000 30,000 12,000
401 Al Bl 28I 42,000 30,000 12,000
01 A& HI 36,000 24,000 12,000
o MEOIAX A Z2 & 36,000,000& 36,000 24,000 12,000

- 265 -




